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I YEAR (T.D.C.) SCIENCE EXAMINATION, 2018
COMPUTER SCIENCE
Paper -1

DIGITAL ELECTRONICS AND INTRODUCTION
TO COMPUTER ARCHITECTURE
Time: Three Hours
Maximum Marks: 50

PART - A (&vs — 3]) [Marks: 10]
Answer all questions (50 words each).

All questions carry equal marks.

T ge 1A &1 JRIF F97 BT FAY 50 =] H HF T/
7 7ol @& s AT &
PART - B (5vs — §) [Marks: 25]
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
IRIF 31 W V-9 J97 gId §Y &l yid I B/
R|% FIT T IV 250 %] o 3EF 7T &/
T 7o & S THT &/
PART - C (578 — @) [Marks: 15]

Answer any two questions (300 words each).

All questions carry equal marks.

P g FoT PIOTT | Gdb Fo7 T IV 300 Isa) & 3fFE 7 &/
vt got @ 3ip wHT &
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PART - A / 9vs— J

Q.1 Answer the following questions:-
fF=ferRad gl & SR dIfTu—

(1)  Write full name of ASCII.
ASCII &1 g=T =M fofRag |

(i1) Convert decimal number 45.25 into Binary.

GUTHeTd AT 4525 DI fgaRl A # 9aferd |
(ii1)) What is the use of Karnaugh Map?

HET AT BT FIT SYANT 87
(iv) What is Flip Flop?

Ty FTT T BT B°

(v)  What is the result of adding hexadecimal number A6 and 3A?
SISYR] T A6 Td 3A BT AT FAT BRI?
(vi) Write the truth table for Half-Adder.
T 37l Ao & forv gy iRl 99183 |
(vii) Develop a truth table for two input NOR gate.
fg—Faell NOR gR & forg wea iRell faefra sifory |
(viii) What is BCD?
BCD &1 87

(ix) Draw a logic circuit for Full-Adder.

T QUi-Ard &1 dfdbed aRue frF 9918 |

(x) Write the basic difference between a register and a counter.

TR 3R o # =g 3T forRay |
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Q.2

Q3

Q.4

Q.5

Q.6

Q.7

Q.8

Q9

PART -B / vs— §

UNIT -1/ s&15 -1

(a) What are invalid numbers in BCD code? [2]
BCD &is ¥ Mg @ wr &7?

(b) Perform the following BCD addition and express the result in
decimal number. [3]
791 &1 BCD a1 BRI T=AT UM &I SIMed & H &Jad $HifoTy |

0110 0111

+0101 0011

Perform the following subtraction using straight, 1’s and 2’s complement
methods. [1+2+2=5]
= 1 A, 1 ®e T 2 Wb @1 AR g7 Tersy |
100 - 110000
UNIT -11/ 513 —1I

Draw a Karnaugh Map for the following input and simplified Boolean

expression. [5]

=1 sfaia |/l & foly M1 9 9910 g ERetldhd ol &oid U difoT |
0000, 1000, 0010, 1010,

State and prove De Morgan’s theorem for three inputs. [5]

S 9 yrg faRad qon 9 e & fov s9ar Rig S |
UNIT -III / go1E — I

Describe the working of S-R Latch in detail. [5]
S-R oI & BT YOIl &I AIIAR ART BT |
Explain working of Master-slave Flip-Flop. [5]

AR woid fFeTT FedTd &Y BRI YoTell A918Y |
UNIT -IV/ s&T8 —IV

Explain the basic operation and working of Up/down counter. [5]
& 319/ 0TS &1 Jorvd fharg gd wrd Yorrell FHssy |
What are module counters? Write applications of module counters. [5]

A OBl | &7 WY 57 ATSIA T0Thi & YA forRay |
UNIT-V/ s&1§ -V

Q.10 Discuss various RAM and ROM types. [5]

3 3R I\ B AR YBRI BT goi ST |
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Q.11 What is the difference between Microprocessor and Microcontroller? [5]

HISHT YIRIAR UG ATSh] HrelolR H 3R W< BT |

Q.12 (a)
(b)
(©)
&)
@)

(%)
Q.13 (a)

(b)

Q.14 (a)

(b)

PART -C / vs— ¥
Subtract the following hexadecimal number- [3+2+2V2=T7V2]
8416 — 2A6
Convert 259;,to Octal number
Convert 4 D F,4 to Octal number
=1 SISl W= @ Tegd-
8416 — 2A16
259, BT YR AT § gefor |
4D Fs BT a7 § ggford |
Reduce the following function to its minimum sum of product by using
Karnaugh map. [5]
BET HY gRT 71 STeh Bl <LATH Y&l & T & ®U H AR DI |
X=ABCD+ ABCD+ ABCD+ABCD+ ABCD+ ABCD
Draw the logic circuit to realize the expression x with and without

simplification [2V2]
STH X BT Alihd YR FSTd Pl el B 9 Jd T Ael B & ygad
=Y |

X=AB (CD+ CD)

Explain full adder. Draw a full adder circuit using half adder and write

expressions. [5]

qof Ao & GEEnsd | 3 Aid &I WEIar | gl diotd &1 aRku form

g1 g AoT! Bl feTlay |
Discuss the working of Shift Register. [2Y2]
Rt IR A FRI YUl DI FHEY |

Q.15 Explain the following- [3Y2+4=T"%]
fFr=feTRad &1 AHsTSI—

(a)
(b)
Q.16 (a)

(b)

Encoder and Decoder

Multiplexer and Demultiplexer.

Discuss the memory organization. [37%]
Hf WIS B ARl BIFTY |

Briefly discuss the 8085 microprocessor. [4]

8085 HTgeh! YRR & fadR I AT BHIFT |

[1211] [YELLOW] Page 4 of 4



